AN

> H H N 5 n 53602201 HANSAMOTION - Washbasin faucet

EAN: 4015474106789
static.hansa.com/53602201

e Washbasin e Chrome
e Single-lever e Fixed spout
e Deck mounted o Litter filter(s)

o— 127 —=

- 123 —&

177
58
@250 ‘
@33.5 4-40 263
g =
s
35-50
i
q |
375 _I
Gl 174 o
max. 180 ——o
e
ap
G378 'L—L
Technical data
Technical properties @
Hot water supply max. +80°C GOOD é
Working pressure 0.5-10 bar DESIGN .
Material Brass reddot design award

winner 2005

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024 12


https://static.hansa.com/53602201/en

< HANSH
N
Spare parts

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

SP53602201
Name
1 Lever Discontinued

11 Screw, M5x8, SW2.5

12 Bushing

15 Cap Discontinued

16 Screw, M4x10 SW2.5 Discontinued
2 Aerator, (2008-) Discontinued

23 Aerator Discontinued

23 Aerator, (2008-) Discontinued

2.4 0-ring, 50.52x1.78

3 Fixing screw, M50x1 Discontinued

32 0-ring, 34x2

4 Cartridge, 4.0 Classic

41 Temperature adjustment limiter Discontinued
I Base plate Discontinued

45 Flow limiter, 8L/min

46 0-ring, 9x2

5.1 Pop-up operating rod
52 Swivel joint

53 Gasket, 43x37x3

55 Fixing plate

56 Screw, M8x1, SW13

5.7 Fixing set

58 Flexible pipe, L=430, G3/8-M10x1
59 0-ring, d 7.65x1.78

510 Litter filter

512 Fixing screw, M8x1, L=140

7 Pop-up waste
NI Coupling pipe, L=430, M10x1
N.I. Socket wrench, SW36

Code
59912854
59904755
59904778
59912856
59912855
59913248
59912858
59913248
59906841
59912859
59912533
59912791
59912799
59912860
59913095
59905095
59912804
59904624
59912506
59904765
59904766
59910749
59912515
59902337
59911684
59912474
59911441
59912550
59913900

212



